	М – 6






В – 1

Подобные слагаемые

1. Раскройте скобки: (3а – 2,4) ( (– 5)

а) – 15а – 2,4
б) – 15а + 12

в) – 15а – 12 

2. Решите уравнение: 4 ( (х – 0,8) – 2х = 7,6

а) 6,2

б) 2,2

в) 5,4

3. Приведите подобные слагаемые: – 9х + 3у + 4х + у

а) 4у – 5х
б) 4у – 13х
в) – 5ху

4. Упростите выражение: х – (х – у)

а) 2х – у
б) х

в) у

5. Упростите выражение: 3,2 ( (х – 5) + 1,8 ( (х + 1,5)

а) 1,4х – 13,3

б) 5х – 13,3

в) 5х – 17,7


	М – 6






В – 3

Подобные слагаемые

1. Раскройте скобки: (–1,7 + 2,1а) ( (– 3)

а) – 6,3а + 5,1

б) – 6,1а + 5,1

в) – 6,3а – 5,12 

2. Решите уравнение: (2х – 1,2) ( 5 + 4х = 1,84

а) 5,6

б) – 5,6

в) 0,56

3. Приведите подобные слагаемые: – 13х + 1,5у – (3,5у + х)

а) – 12х – 5у

б) – 2у – 14х

в) 0,5ху

4. Упростите выражение: 2х + у – (х – 2у)

а) 3х – 3у
б) 2х – у 
в) 3х + 3у

5. Упростите выражение: 4,2 ( (х – 1,5) – 2,3 ( (2х – 3)

а) 8,8х + 0,5

б) 0,4х + 0,5

в) 0,4х + 13,2



	М – 6






В – 2

Подобные слагаемые

1. Раскройте скобки: (1,75 – 7у) : 5

а) 0,35 – 7у
б) – 0,35 + 1,4у

в) 0,35 – 1,4у 

2. Решите уравнение: (1,4 – 5х) : 2 + 3,3 + х = – 9,5

а) 9,9

б) 9

в) 8,5

3. Приведите подобные слагаемые: 6х + 2у – (у – 2,5х)

а) 8,5х + у

б) 8,5х + 3у

в) 9,5ху

4. Упростите выражение: 2(х + 3у) – (у – х)

а) х _ 4у
б) 3х + 4у

в) х + 2у

5. Упростите выражение: 4 ( (2,3 – 2х) – 2,4 ( (3х + 1,5)

а) 0,8х + 5,6

б) – 15,2х + 4,6

в) – 15,2х + 12,8


	М – 6






В – 4

Подобные слагаемые

1. Раскройте скобки: (2,7 – 1,8у) : 3

а) 0,9 – 1,8у

б) 0,9 – 0,6у

в) 0,9 + 0,6у 

2. Решите уравнение: (3,2 – 6,4х) : 4 + х – 3,8 = 1,56

а) – 7,6

б) – 7,16

в) – 6,36

3. Приведите подобные слагаемые: – 8х + 4,2у + 1,8у + 1,5х

а) – 9,5х + 5у

б) 0,5ху
в) 6у – 6,5х

4. Упростите выражение: 4х + 5у – (5у – 5х)

а) 9х + 10у
б) 9х

в) 10у

5. Упростите выражение: 1,8 ( (1,5х + 0,5) – 0,8 ( (7 – 2х)

а) 1,1 – 4,7

б) 1,1х + 4,7

в) 4,3х – 6,5




